Item 7. Parent: 6.

kerb-flawed? 7 (realized)
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(defskeleton kerb-flawed2
{vars (ticket mesg) (m n text) (a b s b-® name) (k skey))
{defstrand init 3 (ticket ticket) (mm) (n n) (2 a) (b b) (s 5) (k k})
{deflistener m)
{defstrand keyserv 2 {(n n) {(a a) (b b-8) (s s) {(k k))
(precedes (( @) (2 ©)) ((0 2) (1 8)) ((2 1) (@ 1)))
{non-orig (ltk a s) (ltk b s3)
{unig-orig m n k)
{operation encryption-test (added-strand keyserv 2)
(enc k n {1tk a s)) (@& 1))
{label 7}
{parent &)
{unrealized)
{shape)
(maps ((@ 1) ({a a) (b b) (s s) (mm) (ticket ticket) (n n) (k k))))

(origs (k (2 1)) (n (@ @)) (m (@ 2))))



